e

+d

=1/

F2MH

5 3

%40

£ 5/

(2)-(iil) g(z) =z +2sinz +7

SHM6EE LB REAFLEERFRBZH]
FIEGISEE ol
AXHEHSFE AXeiFE
BEE B
EEp EE
21451 B BHAERBEEH
1 1 7 13 47
(1) 1000 (2 ¢ () g 4 155 %) 155
L3 4. 9 2 2
(1) 5% (2) g(a +b)2 (3) b=3a
(4) —%a(aQ +b—ava®+ b)
1
Ve @2 @18 G0
22 13
(5) OH = OB + 3= 0C
(1) 36 (2) BRfEIE k2 + 2k, B/MEN K2
(3) %(4]& — 4k — K + k) (4) 114
V6 T .. T . 5
) w = Y2 (cos ul i Bt 2 BoMER O
(D-G) w 5 (cos 4 Tisin 4) (1)-(ii) RAMEIX 7 B/ IMEL
1 .
(2)-G) 0 (2)-(ii) —zxcosz +sinz +z — 3 sin 2z + C (C 13F&55 EH)



